OO0 I1II00dogn 20130 110 190

goooDo O

00 1]« (40 x8=320)

gbobboooobbbuoooobbodo

(1) /(3x2+4x—|—5)dx (5) /xcosxdx
e Ry

(3) / o3 4 (7) /0 et
(4) / (322 + 42) (% + 20% + 1) du @ /:’ %

D0 2|« (30+50+50=130)

00y=2s00000y=2200000000 D0O00ODO
(2-1) 00 DO 00000000
(2-2) 00 pPOOOOOOOO

(2-3) U0 DO 000000000 0ODODOOOOOOOODOOODO

003]x (50 x3=150)

gbbbuooobboooobbbuooobbbogn

(3-1) ¥y =2y (z,y) = (0,3)
(3-2) ¢ = y°a? (z,y) = (0,1)
(3-3) ¢ —3y =e* (z,y) = (0,0)

00 4]« (50 x2=100)

00000000000 000000
(4-1) " +y=0

(4-2) y"+2y =8y =0



005+ (50 x2=100)

goboboobbboooodob z=30000000b0bb0bOOO000O0OLDbDDDODD, DO
gbbboodgboboboooobbbooodn

5 de
D ), Gy

5 dx
(2) | 2

006|% (50 x3=150)

(6-1) xyO0ODOUODOOODDOOOODODOOO0DtO0DODO0O00OD0000 z=t—sint,y=1—cost
gooboooobbboxt<2rdggbbboooobbobuooonobn

(6-2) 0000 r=¢’(0<f<n/2)000000000200y0000000000000
0oo

(6-3) 00 r00000VOOODOO

*** (50)

us

DDD/ sin(logz)dz 0000000
1

00 8|xxx (30+70=100)

™

3
DDD/ log(sinz)dz 00000000
0

(8-1) /2 log(sin x)dx = /4 log(cosx)de OO OO
z 0
4

™

(8-2) DDDDDDDDDDDDDDD/Qlog(sinx)deDDDDDD
0

00 9]xxx  (30+70=100)

DDD/ M y0O0O00O0ooo
0 X

gz SINT

(9-1) D000 e*0OOOOOeODOO f(a):/ e dz00000f(e)ODO0O0ODOO
0

X

*sinzx

(9-2)DDDDDDDDDDDDDDD/ dx00 00000

0 T



